SLIP TEST-1 (SOCIAL STUDIES)

Name of the student :- Marks :-
25 Marks.
Class:- School:-
I. Choose the correct answer for the following Questions. 10 X 1 =10 Marks
1 India has a total area of - ( )
A) 3.28 m.sq km B) 3.02m.sqkm C) 3.20m .sqg. km D) 3.82m.sqg.km
2 Ooty is located in these mountains . ( )
A) Mahadev hills B) Neelagiri hills C) Aravali hills D) Annamalai hills
3 the Sivaliks are colled Mishmi in ---- ( )
A) Jammuand Kashmir B) Rajasthan C) Assam D) Arunachal Pradesh
4 Thar desert is located in --—-- ( )
A) Madhya Pradesh B) Rajasthan C) Assam D) Tamilanadu
5 The project which is proposed to construct at Kudamkulam in Tamilanadu ( )
A) Tharmal power B) Hydro Eletrricity C) Solar power D) Nuclear power
6 The HDI rank of India in 2013 is ( )
A) 92 B) 136 Q) 146 D) 149
7 Gender bias means ( )
Discrimination on
A) Men and Women B) Only women C) Only men D) Women
8 This sector does not produce goods directly ( )
A) Primary B) Secondary C) Service D) None
9 The percentage of workers in un-organised sector in India ( )
A) 94 B) 98 Q) 96 D) 92
10 Find the Un-organised sector item from the following ( )
A) Railways B) Govt. Schools C) Small farming D) Banks
Il. Fill in the blanks for the following questions. 10 X 1 =10 Marks
1 The highest peak of peninsular India is
12 The stait separating Sri Lanka and India is
13 The standared meridian of india is
14 Active mahila mandals can be found in many villages in the state
15 Expand UNDP
16 Disguised unemployment is observed in sector.
17 Unpaid work is mostly done in India across the world (gender)
18 Expand SHG

19

20

The state which has seas on three sides

The group of islands lying in the Arabian sea

lll. Match the following.

21
22
23
24
25

Aroya konda A) Triambak
Arunachal Pradesh B) Chinttha palli
River Indus C) Tapati

River flowing to west D) Itanagar

River Godhavari E) Tibet

5 X 1 =5 Marks




